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12. Which sentence blurs the focus of the second paragraph
and should therefore be deleted?




Answer Key
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Rationales

Choice D is the bestanswer. 7KH VLQJXODU "ZDVa DJUHHV ZLWK WKH VLQJXODU
VXEMHFW "PXFK a &KRLFHV $ % DQG & DUH LQFRUUHFW EHFDXVH WKH SOXUDO "7
"KDYH EHHQ a DQG 'DUHa GR QRW DJUHH ZLWK WKH VLQJXODU VXEMHFW "PXFK a

Choice D is the bestanswer. 'HOHWLQJ WKH XQGHUOLQHG SRUWLRQ UHVXOWYVY LQ D FOHDU
HFRQRPLFDO VHQWHQFH &KRLFHV $ % DQG & DUH LQFRUUHFW EHFDXVH "FRPLQ.
JURZLQJ VHDVRQ a "ZKHQ WKH FURSVY ZHUH UHDG\ WR SLFN a bQG 'DIWHU WKH SU
KDG ULSHQHGa DUH XQQHFHVVDULO\ ZRUG\ DQG VRPHZKDW UHGXQGDQW DGGLWLI
WKH VHQWHQFH JLYHQ WKDW "KDUYHVW VHDVRQa DOUHDG\ VXJJHVWYV ZKDW HDFK
FKRLFHVY LOQOWURGXFHV

Choice A is the bestanswer. 6 HQWHQFH LV PRVW ORJLFDO ZKHUH LW LV QRZ LQ WKH
SDVVDJH DV LW KHOSVY GH®QH "QHFWDULQHa LQ VHQWHQFH DQG VHWYV XS WKH |
RI WKH QHFWDULQH”VY FRPSRVLWLRQ LQ VHQWHQFH &KRLFH % LV LQFRUUHFW E
SODFLQJ VHQWHQFH DIWHU VHQWHQFH ZRXOG ERWK LQWHUUXSW WKH QDUUDW
IRXQGLQJ DQG HDUO\ VXFFHVV RI .LP %URWKHUVY DQG GLVUXSW WKH °RZ EHWZHH
VHQWHQFHYV DQG &KRLFH & LV LQFRUUHFW EHFDXVH SODFLQJ VHQWHQFHb DI\
VHQWHQFH ZRXOG ERWK GLVUXSW WKH °RZ EHWZHHQ VHQWHQFHY DQG DQG
LOQWURGXFH EDVLF LQIRUPDWLRQ DERXW WKH QHFWDULQH ODWHU LQ WKH SDVVD
UHTXLUHG E\ WKH ZULWHU”Y GHYHORSPHQW RI WKH WRSLF &KRLFH 'LV LQFRUUH
SODFLQJ VHQWHQFH DIWHU VHQWHQFH ZRXOG ERWK GLVUXSW WKH °RZ EHWZH
VHQWHQFHYV DQG DQG LQWHUUXSW WKH QDUUDWLYH RI WKH ODWHU KLVWRU\ R
%URWKHUV

Choice Cis the bestanswer. $ GDVK LV QHFHVVDU\ EHWZHHQ 'PLOOHQQLDa DQG

"WKHa WR FRPSOHWH WKH VHSDUDWLRQ Rl WKH SDUHQWKHWLFDO LQIRUPDWLRQ
KDG H[LVWHG LQ &KLQD IRU WZR PLOOHQQLDa IURP WKH UHVW RI WKH VHQWHQFH
GDVK LV XVHG DIWHU "QHFWDULQH a D GDVK PXVW EH XVHG DIWHU "PLOOHQQLDa
&KRLFHV $ DQG ' DUH LQFRUUHFW EHFDXVH QHLWKHU D FRPPD QRU D SDUHQWKH\
DIWHU "PLOOHQQLDa PDWFKHV WKH GDVK SODFHG DIWHU "QHFWDULQHa WR VHW |
SDUHQWKHWLFDO LQIRUPDWLRQ "WKH IUXLW KDG H[LVWHG LQ &KLQD IRU WZR PL«
&KRLFHb% LV LQFRUUHFW EHFDXVH SODFLQJ D SHULRG DIWHU "PLOOHQQLDa UHV;
UKHWRULFDOO\ SRRU VHQWHQFH IUDJPHQW

Choice Ais the bestanswer. 7KH SURSRVHG DGGLWLRQ H[SDQGVY LQ D UHOHYDQW

ZD\ RQ WKH QRWLRQ RI WKH .LPV "JLYLQJ EDFN WR WKHLU FRPPXQLW\ a &KRLFH ¥%
LQFRUUHFW EHFDXVH ZKLOH WKH SURSRVHG DGGLWLRQ VKRXOG EH PDGH WKH U
RXWOLQHG LQ FKRLFH % LV LQFRUUHFW DV WKH DGGLWLRQ GRHV QRW VSHFLI\ W
WLPH SHULRG LQ ZKLFK .LP %YURWKHUV RSHUDWHG &KRLFH & LV LQFRUUHFW EHF
SURSRVHG DGGLWLRQ VKRXOG EH PDGH DQG EHFDXVH WKH PDLQ IRFXV RI WKH SLC
WKDW SRLQW LV QRW QHFWDULQHYV &KRLFH 'LV LQFRUUHFW EHFDXVH WKH SURS
VKRXOG EH PDGH DQG EHFDXVH LW ZRXOG QRW EH QHFHVVDU\ DW WKDW SRLQW L
QDUUDWLYH WR H[SODLQ ZKHWKHU WKH LQVWLWXWLRQV WKH .LPV HVWDEOLVKHC

Choice C is the bestanswer., $ VHPLFRORQ DIWHU "OHJVa UHVXOWY LQ WZR FOHDU DQG
FRPSOHWH LQGHSHQGHQW FODXVHY DQG D FRPSOHWH ORJLFDO VHQWHQFH &KRI
LQFRUUHFW EHFDXVH D FRPPD DIWHU "OHJVa UHVXOWY LQ D FRPPD VSOLFH &KRL
LV LQFRUUHFW EHFDXVH D VHPLFRORQ DIWHU "J\PQDVWVa LOORJLFDOO\ VXJJHVW
VEXUU\LQJ DFURVV WKH VDQG RQ PDQ\ OHJV LV VRPHWKLQJ WKDW J\PQDVWYV ZRX
&KRLFH 'LV LOQFRUUHFW EHFDXVH D FRPPD DIWHU "J\PQDVWVa UHVXOWYVY LQ D FRI
VSOLFH DQG LOORJLFDOO\ VXJJHVWYVY WKDW VFXUU\LQJ DFURVVY WKH VDQG RQ PD!
VRPHWKLQJ WKDW J\PQDVWYV ZRXOG GR
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Choice A is the bestanswer. $ FRPPD DIWHU "&KHEELa PDNHV FOHDU WKDW ZKDW
IROORZV LQ WKH VHQWHQFH "D VDQG)\ GHVHUW LQ VRXWKHDVWHUQ ORURFFRa
(UJ &KHEEL &KRLFH % LV LQFRUUHFW EHFDXVH D GDVK IROORZHG E\ "WKLV E
LV DQ DZNZDUG DQG XQQHFHVVDULO\ GUDPDWLF ZD\ WR FRPELQH VHQWHQFH\

&KRLFHV & DQG ' DUH LQFRUUHFW EHFDXVH HDFK LQWURGXFHV UHSHWLWLR
&KHEELa LQWR WKH FRPELQHG VHQWHQFH

Choice A is the best answer.



Choice D is the bestanswer. 7KH PDLQ IRFXV RI WKH ODVW SDUDJUDSK LV RQ &OLIWRQ

DV ERWK D WDOHQWHG ZULWHU DQG WHDFKHU &KRLFHV $ DQG & DUH LQFRUUHFW
HDFK IRFXVHV RQ &OLIWRQ”"V SRHWU\ EXW QRW RQ KHU WHDFKLQJ ZKLFK LV DOV
WR WKH ODVW SDUDJUDSK &KRLFH % LV LOQOFRUUHFW EHFDXVH LW IRFXVHV RQ &O
WHDFKLQJ EXW QRW RQ KHU SRHWU\ ZKLFK LV DOVR FHQWUDO WR WKH ODVW SD

"6SDUHa LV FORVHVW WR FRQYH\LQJ WKH VDPH PHDQLQJ

Choice B is the best answer.
&KRLFHV $ & DQG ' DUH

DV "HFRQRP\ DQG PLQLPDOLVP a XVHG LQ VHQWHQFH



	



